RETFAL~ ERLE ZARLEAR in =/# o1

1. AABCIIHTIHED B 2#EZAD. (SHKk14, Atk1330%, Bik24, Cikas)

(1) AD:DB=1:1, AE:EC=1:1 (2) BD:DC=2:3, AE:EC=1:1
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(3) AE:EC=1:2, AD:DB=1:3 (4) AD:DB=5:4, BE:EC=2:1
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(5) AD:DB=2:3, AE:EC=5:2 (6) AD:DB=7:8, BE:EC=5:1
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2.

AABC IZH T 21HED BIE 2EZAD. (SH1310%, A1 308, B2y, C#hdasy)

(1) AD:DB=2:3, BE:EC=2:1

A

(3) BD:DC=1:4, AE:EB=1:5
A

E

(5) AD:DB=3:7, AE:EC=5:4
A
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BD:DC=5:3,

A

AE:EC=1:1
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AD:DB=3:5, BE:EC=2:3
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1. AABCIIHTIHED B 2#EZAD. (SHKk14, Atk1330%, Bik24, Cikas)

(1) AD:DB=1:1, AE:EC=1:1 (2) BD:DC=2:3, AE:EC=1:1

1
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B B 2. Dz . C
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AADE : AABC = (3°3) :1=7:1 AADE: AABC = ($:1):1=23:1
= HFDBCE=1-;=] = UM EABD =1-3 = T
(3) AE:EC=1:2, AD:DB=1:3 (4) AD:DB=5:4, BE:EC=2:1

AADE: AABC = (3°3) :1=F:1 AADE: AABC = ($:2):1=2:1
= VI DBCE=1- L =1 = WAFECAD=1- 5 =1
(5) AD:DB=2:3, AE:EC=5:2 (6) AD:DB=7:8, BE:EC=5:1

AADE:AABC:(%'%):l:%:l AADE:AABC:(%'%):l:%:l
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= DU DBCE=1-2=3 = Ui ECADDBCE = 1 —
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2. AABCIZNT2HBED EIG 2EHZIAD. (SHK1710F, Af1030%, B2, CH4aa)

(1) AD:DB=2:3, BE:EC=2:1 (2) BD:DC=5:3, AE:EC=1:1

01 AADE:AABC:(%'%);lz%zl
= MAFEABD=1-2 =13

(3) BD:DC=1:4, AE:EB=1:5 (4) AD:DB=3:5, BE:EC=2:3

AADE:AABCZ(%'%):lZ%:l AADE:AABCZ(%'%):lZ%:l
= PfAEDCAE=1-{=23 = WAFECAD=1-1=3
(5) AD:DB=3:7, AE:EC=5:4 (6) AD:DB=8:7, BE:EC=3:7

AADE: AABC = (£:3):1=1:1
= VIfgJEDBCE=1- ¢ =2
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